Construction division. Advice for giving credit to contractors/suppliers.

Sl. 1 regi	No. – site bills ster	71	10		Date Regis	- site bil	ls			
Con	npany Name:	1	116	0	Site:	toi .		6.M	R	
Nan	ne of Contractor		rasde		Psa	1-0		4		
Nati	ire of work	Til		ayir	1/	ooxh				
Wor	k done	From D		1//	/. A		Date	30/1	0/2021	
Sl. No.	Villa/Flat/block no	. Qty	Fo	Rate	21.1.1	Units	Amou		Contractors bill no	
1.	F-Block of	lat -18	22-	13	5/-	Sbt	23	1686/		
2.	not lot and	,	190-	13	1-	RAT	64	370/-		
3.	106 tiles la	48	00-	16	1-	361	12	1800/-		
4.	-ing work	/ 1	160-	10	1-	36+	2	240/-		
5.	Verilied	1	822	1	11-	86+	884 7			
6.	flooring,	-1	190-	1.	1/-	Rft	19	160/-		
7.	Kitchen, Hal	<u> </u>								
.8.	Skirting.									
9.	J									
10.										
11.		otal:						1,344/	<u></u>	
	equired	O YES	NO.		GST	bill requi	ired	□ YES	⊇NO.	
	urement & ate sheet:	☑ Require☑ Not re		Measurement & estimate sheet:				E Enclosed ☐ Not enclosed		
PO/W	O no.			PO/WO date:						
Rema	rks: All w	porbs	(0 m	plet	led					
707-in-1 ₀ -1 ₀₋₁										
					and the same of th					
Approved by Project Manager			Appro	Approved by Design Team				Approved by M.D.		
Date:	Date: 19 111/27			Date:				Date:		
Sign:	Sign:			Sign:				Sign:		

Notes: 1. This salvice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

MEASUREMENT	SHEET							
Company Name:	MRMLLP						_	
Project:	Gulmohar Residency					Approved by:	Ramprasad	
Work Description:		athroom tiles in 1360 sft flats a	t F-block			Sign:		
Contractor Name:	Janardhan Prasad	and the second rates a	u I -olock					
Prepared By	Rajesh G							
Date:	11-11-2021							
			A	В		D	E= AxBxCxD	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1	F - 101 & 106	vetrified flooring						sft
		SBUA 1360sft (67%)	911.00	1.00	1.00	2.00	1822.00	sft
		Skirting 18%	245.00	1.00	1.00	2.00	490.00	Rft
		(200sft per toilet)	200.00	1.00	1.00	4.00	800.00	sft
	Kitchen & utility	(80sft per flat)	80.00	1.00	1.00	2.00	160.00	sft
		SBUA 1360sft (67%)	911.00	1.00	1.00	2.00	1822.00	sft
		Skirting 18%	245.00	1.00	1.00	2.00	490.00	Rft

ESTIMATE SHEET							
Company Name:	MRMLLP					Approved by:	Ramprasad
Project:	Gulmohar Residency					Sign:	
Work Description:	Vetrified Flooring and	Bathroom tiles in 1360 sft	flats at F-block		,		
Contractor Name:	Janardhan Prasad						
Prepared By	Rajesh.G	0 a 2 a 2 a 2 a 2 a 2 a 2 a 2 a 2 a 2 a					
Date:	02-09-2021						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
1	vetrified flooring	SBUA 1360sft (67%)	1822.00	Sft	13.00	23,686.00	•
2		Skirting 18%	490.00	rft	13.00	6,370.00	
		(200sft per toilet)	800.00	sft	16.00	12,800.00)
	Kitchen & utility	(80sft per flat)	160.00	sft	14.00	2,240.0	0
		SBUA 1360sft (67%)	1822.00	sft	4.00	7,288.0	0
		Skirting 18%	490.00	rft	4.00	1,960.0	0
						54,344.0	0
				2 E	19. O		-
						_	
						-	

Bill for Equipment Allowance

Janardhan Prasad, Plot-no-42, Vinobha Nagar, Hyderabad.

Date: 11.11.21

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles laying

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: F - Block Flat no.101 & 106 Tiles Flooring. Total Amount = 54,344/- Work done from data 20.00.21 to data 20.10.21	Rs.21,737.60 /-
	from date 30.09.21 to date 30.10.21	

Amount in words: Twenty One Thousand Seven Hundred and Thirty Seven.

Sign:

Bill for Labour Charges

Janardhan Prasad, Plot-no-42, Vinobha Nagar, Hyderabad.

Date: 11.11.21

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles Laying

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: F - Block Flat no. 101 &	Rs.21,737.60 /-
	106 Tiles Flooring. Total Amount = 54,344/- Work done	KS.21,737.007-
	from date 30.09.21 to date 30.10.21	

Amount in words: Twenty One Thousand Seven Hundred and Thirty Seven.

Sign:

Allowance for Consumables

Janardhan Prasad, Plot-no-42, Vinobha Nagar, Hyderabad.

Date: 11.11.21

In favor of:

MRMLLP

Project / Site: Location:

Gulmohar Residency

Mallapur

Type of Work:

Tiles work

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: F - Block Flat no.101 & 106 Tiles Flooring. Total Amount = 54,344/- Work done from date 30.09.21 to date 30.10.21	Rs.10,868.80 /-

Amount in words: Ten Thousand Six Hundred and Sixty Eight.